EARAROBREBRT —5 XN—ZXBISH—F 202358198 (&) 2@IIE58

mﬁﬁgg C2+t/\ USH—& BRI R
[AE%) 1 % :1,000,000 § ~ 237&:400,000 ™  33#%:250,000H . 43#%&:150,000 5 & :100,000 /9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~ EHAES :38. -1-1- . - WTFEZ (#18)
189 Fo—hAYL—2X 4 6 Mf 1&; 1-1-1-1 | 39.8 1 :ﬁ %ﬁ%ﬁ
RiNA0 BIATIWAYL—R HBT7—L
S 1w R s 5 | SEHBR 1:39.2 3-3-2-2 | 40.4| - 3 | 425 | SH#EER ()
218l14| ZEY RTOD 54.0 ) *2) PR
RNV vH—)L B:I—-YVSEYR PRI BEA
LIzt : -5-5- - WiEExE (1)
3B 3| ZURILO—LIL # 5 | L 1.(329).6 5-5-5-3 | 40.6 2 (4_824) E_‘E_HI% )
R:RwIA—FIIYI FEXRARSY KIGEBHIS
s v 6 | HFEY 1:39.6 7-6-7-6 | 40.2 | — 4 478 | BEEEy (Hots)
4|57 |TYV—R>3Y 56.0 F9<) © xXORE
RiXAT7YR—L BRATATATY e
SR, —S o5 | BABER 1:39.7 4-3-5-4 | 40.7| - 6 | 470 |REE— GEID
5 4| NEVYHIL—-5 56.0 ) 4s) | BASH
RiIAYVTSwya B:VPI/RYF4—Ib [=F e
o s ) 7 | ANERES 1:39.9 6-6-4-4 | 40.7 | — 5 467 | FERER (oiE)
617112 F=ETVZAFTUR " A53.0 0 (6) | YZIVT RRIAVE (@)
KR:bwdoo—-u— &YV XA 1B
. S A BT :40. -9-10- . - SEH—AI GAFD)
715/ 8 |FMIT—EILRU— 5 | BT 106 8-9-10-8 | 41.0 9 21_75(; B
R:AN/UFv—R B:F—F—FaFx HEE (=—
= o » SHEEM : -8-8- - HEka— (&)
8 5| S M/ ARL—H— o6 el 1.611(;.8 8-8-8-9 | 41.2 7 (4:112) e UL
RNV v —)b B:IvARI3—o He 8z
~ H so5 | EEHKR 1:41.1 M-11-11-11/40.7 | — | 10 | 422 |UPEE ({8
9|8[13]/\¥Y 54.0 11/ 7 | Kies
RiNZ—ka1—X B:FUrERT7O0-5 /=Y ITr—1L
= sy hER% 41, -10-9- . - AEFE= GAiFD)
100111 | *TAa7TIvvhlb R (17271) 1010991 41.3 e (4_49‘; Eia5it
RTSYTURR B:9FINF vy IR BER
N —ue HERE : -2-3- - FHE (ot
TWFUI— w9 | B S I Rl T8 | miE
RiAREFYU B:=5/hUvay Ss
e AHiCR : —14-14- - SHIEE (#Ef0)
39 TALH—R 4 8 i 1.6172).9 13-14-14-12| 42.2 14 (4:11) s
RAREFYU BibAIVEXTE N4
— = EIHfZAER 143. -12-13- . - B NEE (f613)
= JHLA H 5 & 1(34/34)0 12-12-13-14| 42.4 13 (4_652) ESF#ifEﬁ
R:RySAYFT By R7PyzIvh BHE #
— [Eba ey : -13-11- = EEHB (A
=3 4L —L it 5 54?%4{ 1.2174%.4 13-13-11-13| 44.2 1 (4_969) L
RPRIAVL—Y B2V /XF JOFHT7—L
@ 11— —BRIEfI
13—7F— 9,10,14,4,3,12,7, (5,8) ,1,13,11, (2,6)
20—7+— 9,10, (4,14) ,3,(7,12) ,5,8,1,13,11,6,2
Ia=7r= 9,14,10,12,(3.4),7,5,1,8,(6,13) ,11,2
40—F— 9,14,3, (4,12),7,10,8, (1,5) ,13,2,6,11
0 ILRE
BB 9 201 | [ DA K 9-14 260 & 6-8 710 3ER 3-9-14 970
B B 9 140 3-9 300 B 6-8 1,290 3Es 9-14-3 5,450
14 1409 3-14 240 5 & 9-14 690M
3 130M9 =51 9-14 1,510

ABIC OV TRUTEREERRODDZE. THRIIZEL.



